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Note :

Bkl

MAR - 14223/11—C

Sociology

Paper II

THISTIME
P9aeRT 11

Time Allowed : 120 Minutes]
This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

: I YETURARHE] THU FIAR (100) TgIART YA el Sed. Yoo YAl g (2)

Which of the following is a measure

of central tendency ?

(A) Mode

(B) Range

(C) Standard deviation

(D) Codification

Ethnography implies .................. .

(A) People are meaning makers

(B) Objective study

(C) Research on people

(D) Sociometry is the study tool

ETTedeh! VAT Shald gl AFeS
e ?

(A) Sgadsh

(B) ATl

(C) wHT forere

(D) Hehdlahio

(A) @k AYT=T HIA
(B) I3 319
(C) AIhieR GINeH

(D) TSI § S19mEre Hied 3%

[P.T.O.



Match List I with the List II and

mark the correct answer from the

codes given below :

(@)
®)
(c)

d)

(1)
2)
3)

(4)

List I
Central tendency
Dispersion
Correlation
Test of significance

List II
Mean deviation
Pearson’s coefficient
Median

‘“-test

Codes :

(@ b)) © (@

@A 1 2 @ ©)

B 2 & @ @)

©c 3 O @ @

M B @ @ @
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Which is the crucial feature of a good
sample ?

(A) Small size

(B) Representativeness

(C) Easily approachable

(D) Easy to study

The village Mendha Lekha in
Maharashtra is known for its ............ .
(A) Strong local self government
(B) Tribal art

(C) Empowerment of women

(D) Agricultural development

According to Toffler, the wake of the
arrival of the third wave human
social relations and the institutions

are experiencing .................... .

(A) Consolidation in their social

relations

(B) Disorientation in their social

relations

(C) Consolidation of their

primordial relations

(D) Consolidation of their secular

relations
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AT AT Heweul afiTes &
e ?

(A) RM ATHR

(B) wfafferea

(C) HUsh gAY

(D) 7T AW

TRl Hel oiel § ©e
sMeEe S
(A) TR TR TS TS
(B) sTfeardl sere!

(C) Afga TR IomdS|

(D) Fut forEEE]

SIReT=al Ad, AT 9rHTfsieh dael 770

e fag aeen Sl gEerd

(A) =1 GHIfSTeh Geemd TehslTehlv]

(B) W= WIS Fegrt feenyd

(C) = Afeq Haee TehslIehiv]

(D) <=1 Ufesr Toum TR

[P.T.O.



Which of the following is a New

Social Movement ?

(A) The Backward Class Movement
(B) Peasants Movement

(C) Trade Union Movement

(D) LGBT Movement

Through social media false things
are proven as reliable and true by
the powerful sections. This is termed

as :

(A) Media management
(B) Cyber manipulation
(C) Misrepresentation
(D) Misunderstanding

Information revolution led to the

following change :

(A) Literary skills to mechanical
skills

(B) Decentralization of work away

from factories

(C) Predominance of manufacturing

sector

(D) Fordist organization
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eATeTeh! ShIvIG Teh <e WHISTeh TR
e ?
(A) AT aF Fedes

(B) Il Tdos
(C) < I Tdes
(D) TA. S, st . TBdD

e Teieh e WIS HIEAHTHTR T
Eed Ml Siegl wcd afur fogerada

N

WA g hedl S degl e
3T BT

(A) HIEIH T

(B) 9 &dcIed
(C) Trufafafuca
(D) TEHs

Hifedt e Teiid aed Smell :

(A) TR R d AR Hived

o [a)

(B) HREATIRA X FHMEE faehaieh

(C) S & W=

(D) HwIfE= Fee




10.

11.

Which of the following act of violence
has yet not been formulated into a
law ?

(A) Honour killing

(B) Domestic violence

(C) Sexual harassment at workplace
(D) Dowry practice

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R).

Assertion (A) : Poor women are
both victims of environmental
degradation and active agents in

environment protection movement.

Reason (R) : The women are more

jeopardized than men.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and

(R) is correct explanation of (A)

(B) Both (A) and (R) are correct,

but (R) is not the correct
explanation of (A)

(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(&)
(D)

10.

11.
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EATCTIhT IO &= el SIS Q]
WA Uiid e Awl ?
(A) 3R ferfam

N e~ faSd

(B) whigfams f
(C) =T fashToft TUMRT TifTeh Sesaveh
(D) TS UM

et gF faum foeft omed. T wiaaes
(A) & 3o gW R0 (R) 3R

gfaureq (A) : e Afgen, ooy
T Soslel T9Ard AU Iredest

fa)

TR0 T FesoabHed Tehd hedal

SIEIE

STHT.

®RUT (R) : geonden fo@n oifue
ishIeraeh aifEerdid STHdr.

Trelldl Heharemed ard I Hae -

Hehdich :

(A) (A) 3701 (R) SIFel SIeR 3TTed, ST
(R) ? (A) 3 I ST 318

(B) (A) 371 (R) SI=T sRIeR 37ed, W
(R) ¥ (A) 9 I TR0l A&l

(C) (A) SRR 3T 901 (R) & I 3T
(D) (A) I 3R 901 (R) ¥ s 38

[P.T.O.



12.

13.

14.

Which one of the sustainable
development goals deals with the

climate change and its impact ?
(A) Goal No. 6

(B) Goal No. 8

(C) Goal No. 13

(D) Goal No. 15

Hindi movie ‘Ki and Ka’ is an
example of which of the following

concepts ?

(A) Androgyny

(B) Gender bending
(C) Gender roles

(D) Gender conflict

The ‘new’ about new religious

movement iS .........c.......... .
(A) New religion
(B) New action style

(C) New leadership

(D) Alternatives to the mainstream

religions

12.

13.

14.
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EciieTdeh! shIUd IMYed faed «49 §
ST SIS o =1 TRumHeh Sefd
AR ?

(A) &€ . 6

(B) &9 %. 8
(C) &4 %. 13
D) &4 %. 15
&<t fomve ‘=6t emfor 1’ @1 wetierieh!

~ .

FIU] HehoUdd S0l 378 7

(A) IvIfATar

(B) famvma arehe

(C) femmE yfiren

(D) famme Fe

T YfHe Hedaidid (Td’ TS

(A) o o

(B) &t pferett

(C) 7ot qcerRiet

(D) &4 JaTE gq T




16.

17.

..................... refers to a combination
of research methods adopted for

studying social phenomena.
(A) Ethnography

(B) Triangulation

(C) Ethnomethodology

(D) Positivism

Interview is not a ......cccceeun....e. .
(A) Simple two-way process
(B) Multilayered interpretation
(C) Complex tool

(D) Interpretation of silences and

pauses

‘Broad, overall evaluation of what is
knowledge and how it can be

studied’ is called ................. .
(A) Methodology

(B) Epistemology

(C) Positivism

(D) Ontology

15.

16.

17.
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graTfSier SEA9T IYATH  HITITHTS]

R Heed qgedr=a1 T

(C) AN FeE

(D) 9F 9 formmE=T 3=

M RIS K I AMHh TR qod-

qod o S ST & HUId AT

(A) TSR
(B) JHIHETSTS
(C) TI&dle

(D) Hcal HIHTETLRS

[P.T.O.



18.

19.

20.

Positivism refers to ................ .
(A)
(B)
(C)

Objectification
Positive attitude to research

An epistemological position
privileging neutral, objective

analysis

(D)

Integrated analysis of data,

theory
Research ethics aim at .................. .
(A)
(B)

Efficiency in research

Ethically sound decisions about

research
©)
(D)

Justified research findings
Reduction in research budget

Which of the following is not

indicated by a survey ?

(A) Collection

information about people living

of data and

in a specific area

(B) Undertaken for administrative

as well as sociological purposes

(C) Collection of great deal of data

about the lifestyles of people
(D) Used to study the dead and past

society

19.

20.
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S S — i —

(A) TEIRIT

(B) GYNEATHES FTETITAT HHRICHS
gftean

(C) e, axgfis3 fagarvumen #gw
SR AAHAERITS T fHeRT

(D) demgm i, fagid ar= Twifoasw
Torgetemon

YR Afaemesa weaae 3fEse

3T 3T

(A) FRNEARITS HrEawT

(B) WINEATOSEE  Afaemesiagsemn
g fof

(C) TEieAr o fishdl A= wmefA
e

(D) GeNeAr=A 31 Hehodrd &Y

T TeiTetient shivnt faem ffm

e AR ?

(A) Tafirse yewmHe TEum=an elehifasRi=t
mifect emfor dea Heherd

(B) WRTHehIT o= FHISTS T SIS0
e

(C) W= SamRIeifasEe  Hewequl
JeA Hehad

(D) RIS T ST FHTST
HEIAHIS STFH

10



21.

22.

23.

24.

Post-fordist organisation is
characterised by :

(A) Standardization

(B) Greater flexibility

(C) Assembly line production

(D) Centralization of labour

Hypothesis formation is not a part
o) SRR .

(A) Survey

(B) Positivist research

(C) Steps in qualitative research
(D) Policy research

Which one of the following does not

show commodification of rituals ?
(A) Mass Karva Chauth celebration

(B) Universal celebration of Sangeet

Ceremony
(C) Private worship of god
(D) Jallikattu
Which of the following does not

describe McDonaldization ?
(A) Efficiency

(B) Unpredictable

(C) Automated

(D) Calculability

21.

22.

23.

24.
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SAR-HIfER Toeaa afirey
TS,

(A) THTONHIO

(B) 3Af¥eh Srert=rehdl

(C) iHesh Jeoull Icure

(D) HE helh{o

(A) Helerm

(B) TcH&feel HeMEH

(C) TUMcHe: FRNEATAS =4
(D) RNt Feiem

ETefiedeht v foaf= fafTeeeegam
E 2

(A) STHHIERST el Tl ek 0]
(B) Eid THIY Hreif>rRTol HISH X0
(C) <ar=it g @ISHigu o]

(D) wifetshg

WA IV HehS TSRS J0H
ATEr ?

(A) &

(B) STUERRYHE

(C) wF=afad

(D) TUAT SHIOATSIA

[P.T.O.



25.

26.

27.

Depeasantization refers to .............. .

(A)

The declining of peasant

practices

(B) The substitution of market

rationality in agriculture

(&)

Expulsion of small producers

from the land
D)

Commercialization of agriculture

Which term is used by Karl Marx
to describe the process by which the
working class grows increasingly
impoverished in relation to the

capitalist class ?
(A) Precariat

(B) Pauperization
(C) Marginalisation
(D) Exploitation

Who argues that any consideration
of social facts without their value

components is unreal ?
(A) Radhakamal Mukerjee
(B) G. S. Ghurye

(C) Irawati Karve

(D) M. N. Srinivas

26.

27.
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(A) Vet ffed =aer w20

(B) Irdi-oTeRrean faaehierome 9ot
NI

o

(C) 8 Il Scaeehi=T A X
ETu|

(D) ¥ AR By
qeaadR! =l garid SfHeh adrd

o

[N NN [d (al
dletd] goci=dl Hisndd YA enU4lXdlal

o

ShIct AR AT RISl ATRed oTg 2
(A) sffea

(B) it

(C) EwieRto

(D) SIrSoT

‘graTferer 9 fa=mrd Sam deara

qedTcHsh §[Zeh I&d J B0 B STeKd
AR’ S wi wfqued e ?

(A) THTRAA BT
(B) st wa. ¥
(C) STl el

(D) W, T #ifes
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28.

29.

Which of the following is not the

characteristic of Disneyization ?
(A) Theming

(B) Hybrid consumption

(C) Merchandising

(D) Individual identity

What does Weber’s concept of zweck-

rational action involve ?

(A) Means-end relationship

28.

29.

MAR - 14223/1I—C
WA IV feTeTEReE Sty
2

(A) FEeRa wrevh

(B) Hehitd UM

(C) AR

(D) KA M@
Ja IreAl SIHEA I hoqiaed

Y= FHEY Bl ?

(A) TEA 99 HaY

(B) Habits of the actor (B) wcaten gat
(C) Only means (C) e 9red
(D) Emotions of the actor (D) A=A |
30. The famous book, ‘The Moral | 30. ‘‘T ARA IHMAEMN ATH € fUgie : Wicz=
Economy of the Peasant : Rebellion g gl 3 WE g e o
and Subsistence in South-East Asia’
J&IhIe C@eh 0T 7
is authored by ......cccc.......... .
(A) S¥F &t whic
(A) James C. Scott
(B) Partha Chatterjee (B) el
(C) D. N. Dhanagare (C) €. T ¥R
(D) Andre Beteille (D) =A% 9d8
13 [P.T.O.



31.

32.

What term is used by Durkheim to
understand “The totality of beliefs
and sentiments common to average
citizens of the same society forms a
determinate system which has its
own life” ?

(A) Division of labour
(B) Collective conscience
(C) Mechanical solidarity
(D) Organic solidarity

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Author)
K. Marx
(b) E. Durkheim
() M. Weber
(d) T. Parsons
List II (Book)
The Social System
Economy and Society
The Poverty of Philosophy

The Division of Labour in
Society

Codes :

(a)
(A) (4)
(B) 3)
(C) (M)
D) @)

(@)

(D
2)
3)
(4)

(b)
3)
(4)
(2)
(1

(c)
2)
2)
3)
4)

(d)
(1)
(1)
4)
3)

31.

32.
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" U GESIAE AT AT
foIvaTg & e 99 & Th 3R fAuie

e e, o= Tk @d= 3 A
3. A STEEHA IV Tl arae!
R ?
(A) gEfaaETft
(B) WHfgsh HHG ool
(C) =itk TR
(D) o T
T 1 oo At I S[ean STfor et
feeiean HishaMmyd Irg Sar faer -
Tt 1 (@)
. e
() T @A
(¢c) TH. TR
(d) 3. JEd
el I (TTeh)
< e fafen
TRATH 3T HrrEt
(3) <& dieedi oM fhairdrm
(4) <t fefegsH 3k o) 39 QHEEE
WHehdieh :
(a)
(A) (4)
(B) 3)
(C) (M)
D) @)

(@)

(1)
(2)

(b)
3)
(4)
(2)
(1)

(c)
(2)
(2)
(3)
4)

(d)
(1)
(1)
4)
3)

14



33.

34.

35.

Who wrote the book ‘Commodities

and Capabilities’ ?
(A) Amartya Sen
(B) M. N. Srinivas
(C) D. P. Mukerjee
(D) A. R. Desai

Which one is not the part of

ecological infrastructure ?
(A) Soil

(B) Flora

(C) Building

(D) Fauna

“Rules, social recipes, conceptions of
appropriate conduct used as a frame
of reference to act in social world”

is called ................ .
(A) Life world

(B) Stock knowledge
(C) Role-taking

(D) Indexicality

33.

34.

35.
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N 2al Ta S a W a

"FHHIES 3fve Hufaciies’ a1 &N

AR R0 ?
(A) 3T T

(B) TH. . ifremm

(C) eI Tt Fewsit

(D) T o, T

TeATeTdeht hiord TRTErTeTe = arme
A WA AR ?

(A) AT

(B) =t

(C) sAR!

(D) ot ST

BEISEIS UG NBCTGIE I EREE S
[T q oTfor 3fed SdAfasEe

HehouT A T dlehe TUHA AR el

(A) SieHfaes
(B) IS

(C) YfHeRT &Rur 0l
(D) R

15

[P.T.O.



36.

37.

38.

The emergence of creches for taking

care of infants is the example

[0) SRR .

(A) Dysfunction

(B) Non-function

(C) Functional alternative
(D) Latent dysfunction

The Savage Mind is written
o) 72N .

(A) Karl Marx

(B) Claude Levi-Strauss
(C) Harold Garfinkel
(D) Clifford Geertz

C. W. Mills’ concept of ‘Power Elite’
refers to a group of three elites

(A) Economic, Political and Military
(B) Social, Economic and Political
(C) Social, Military and Political

(D) Social, Military and Economic

36.

37.

38.
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T AT ehicssiT SUATHIS! TTe3UITeRI=T

A 3T T UM 3T AR ?
(A) T

(B) aT&r

(C) FHEfHs T

(D) 2T9ehe AYHH

fe et wiEge, & ol fetfeet e 2
(A) He He

(B) il A=l-w2H

(C) T MRk

(D) frThE TS

. Ty, frew o=t ‘R sfere’ @

HehouHT diF A= SeeTfaseh e

(A) eTfeies, TSteha emifor HfTent
(B) wmifSen, omfefer emifor Tstehia
(C) TmfSes, fFent ofor TSR

A\Y [

(D) ISR, dfaht

aqfor eqfefen

16
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39. Which feminist perspective focuses | 89. IVl SRl Fftehld JEOUHHT o
upon the interconnectivity of TETERMEIA  ATHTHER AL hisd
patriarchy and capitalism ? wA ?

(A) Liberal feminism (A) SERAGER] SaR
(B) Socialist feminism (B) TUNER SiaR
(C) Radical feminism (C) STereHaar! Hidm
(D) Marxist feminism (D) HEEAR SEE

40. ‘Because motive’ and ‘In-order-to | 40. ‘WU F¥om’ efor ‘=ATETS-gIOM’
motive’ refer to ................... N gfad I
(A) Future and Present (A) wfee S7for S
(B) Present and Future (B) oA Sifor siferer
(C) Past and Future (C) [T ST Hfere=
(D) Past and Present (D) ST Ao S

41. Hyperreality refers to .............. . 41. affqarge T gfea L
(A) Social experiences that are more

than real (A) STRqETIE 3fYeh STHOUR ErHIfSTh
(B) Social experiences that are I

unreal

(B) 31aRqe 3/ HHISeh A9

(C) Social experiences that are

digital (C) siwia QTS v
(D) Social experiences that are

unbelievable (D) SAfavada 318 HHiSh A9

17 [P.T.O.



42.

43.

44.

45.

The personal laws governing people
of different faiths in India do not

include the matter of :
(A) Marriage

(B) Divorce

(C) Cohabitation

(D) Succession
Simulera is .................
(A) Image without original
(B) Digital image

(C) Virtual image

(D) Similar image

When was the National Environment

Awareness Campaign launched in
India ?

(A) 1985
(B) 1986
(C) 1987
(D) 1988
Which of the following is not the

structural feature of caste system in
India ?

(A) Purity and Pollution
(B) Hierarchy
(C) Segmental Division

(D) Occupational Difference

42.

43.

44.

45.
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gRarde fafay smfen aeem fHata

HIO=IT Sfadeh W\r_j ................
el HHE B g

(A) foare
(B) wIcThIe
(C) Hearsd
(D) ar&

(A) 3T THIel G
(B) sthta Hfqem
(C) v gfaw
(D) FHE faH

qRATA A TATaMaoRl ST

i ol JEH wes g® @l ?
(A) 1985
(B) 1986
(C) 1987
(D) 1988

ETeATeTdeh! I WA S lede<d
GEATHe:  dfeTses AT 2

(A) gsar eTfor ygom

(B) &oft =

(C) oA faumoft

(D) =HEHEs 9]

18
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46. Dr. B. R. Ambedkar’s solution for | 46. i @l 3T, TEESHTA A= SERENA
‘Annihilation of Caste’ is .............. . Jqg 7 3R
(A) Reservation in Jobs (A) rerdidiel STR&0
(B) Intercaste Marriage (B) 3fiaesirra foare
(C) Legal Action (C) ISR Felt
(D) Social Reform (D) wHI FERon
47. The function of the ‘Kula-ring’ | 47. 3fHicq ALY s/ ‘spen-T1' = &Ed
among the Argonauts is : S
(A) Status enhancement and
integration (A) TS FaET Afor Tohterat
(B) Distribution of special goods in (B) fovw we= gammaee faawo
society ‘ .
(C) To satisfy primary needs of the (C). TS S et Tttt
members of society W HT0!
(D) To satisfy the need for (D) YAfIaRoT=A TR el o]
redistribution
48. What defines the life world ? 48. SeHfoRE WU FTA 2
(A) The shared reality of everyday (A) E5F SeTde arfTE T
life
(B) The life history of members of (B) HHISIIE Hewr=n Sfte-gfaer
society ..
(C) The world of norms, values and © e, t@ T A
institutions of society IELE]
D) The social world of behaviour
v and activities (D) T S T et foee
19 [P.T.O.



49.

50.

51.

Which of the following statements

appropriately explains Mannheim’s

idea of ‘relationism’ ?

(A) Knowledge and beliefs are the
products of socio-political

conditions

(B) Certain knowledge and beliefs
are true only in certain times

and places
(C) Certain knowledge and beliefs
are true beyond time and space
(D)

Knowledge and beliefs are class

and nation determined

According to Durkheim in which
societies we can observe contract

law ?

(A) Industrial society

(B) Tribal society

(C) Rural society

(D) Small society

Which book is based on students’

notes from a course taught by

Mead ?

(A) Mind and Society

(B) Mind, Self and Society
(C) Presentation of Self in
Everyday Life

(D) The Philosophy of the Present

49.

50.

51.
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TTcTadeh! HIvd faum Heea ==

HAgART= hed Faraqur e i ?

(A) T s gigen A FiHd Fmfes-
TSRt Terdiqd =id

(B) fafere sigen snfor 3w © fafdme s

M TBTER. HH ST

(C) ®es I sHiedaeiiene fafirse gigen
0T I H 3TE

(D) S S0 S1ge =1 o S0 TRIFER
[REIESIGIN

STETEH Ir=AT Hd hicHeh hIFe] 3T

IV FHSTHE Ug Iehal 2
(A) SiEfs wm s

(B) stfcardl HH=

(C) Tt FHIS

D) B FHN

SRV JEIeh HiSH Rehaeicd SIsHHIET
forneaf TR Shotean fequmer STRe
e ?

(A) TrEs v e

(B) HWES, Ucw 3T HEEE

(C) TSIy 3MF Ak 39 Tlie aEh
(D) & frerErst sife € e
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52.

53.

54.

According to Bourdieu, which
concept explains the ‘Mental or
Cognitive structure’ through which
people deal with the social world ?
(A) Field

(B) Cultural capital

(C) Habitus

(D) Agency

Who is associated with the concept

of “urbanism as a way of life” ?
(A) O. Lewis

(B) L. Wirth

(C) R. E. Park

(D) H. Lefebvre

T. H. Marshall’s idea of welfare

on the basis of citizenship rights

entails :

(A) Civil rights and political rights

(B) Political rights and social rights

(C) Civil rights, political rights and

social rights

(D) Civil rights, political rights,
social rights and economic

rights

52.

53.

54.
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S5 AT A WIS SR @ik Sagk
IR FHIA M AFTh o SIEAHS

GLE TR SO Hehed T hIo ?
(A) &

(B) @ihfdes wisda

(C) &faed

(D) e

TTeadeh I §  sTaTe i o1
q S AEE I FeEfd Se 2

(A) 7. o=

(B) T =

(C) 3. 5. W&

(D) TH. wAweE

31, T, ATl AT ANTReh = gaehio

ST Theh A=A shed-d
AT IR

(A) T BFh 9 USThid BFh

(B) USTeh1d Bk o HHISToh 8ok

(C) AT &k, USRI 8Fh  ATIOT

gt gFh

(D) A &k, USThIT &ah, TTHISTh

BFh omfur emf¥ies sk
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55.

56.

57.

The globe trotting elites experiencing
food, clothing, aromas and spatial
features of distant places is termed

by Castells as ............... .

(A) Social spaces of Neoliberalism
(B) Spaces of flows

(C) Spaces of networks

(D) Floating spaces of elite

Castells refers to inequal access to

digital networks as .................. .
(A) Digital divide

(B) Network divide

(C) LT. Inequity

(D) Blackholes of marginality

In which year Domestic violence was
recognized as a criminal offence in

India ?

(A) 1975
(B) 1983
(C) 2005

(D) 2011

55.

56.

57.
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FTEEST AT SEX gEs fesur=ar

SIS qLReM=a o7, e, gard a

STARIRICH IS Beied STHaETe

(A) TE3ERHATIRE] ArATSeh  3TThTS]

(B) YATRIE 3TIehTYT

(C) HSTel AThINT

(D) AT T TR

I TR o=l fasm Fefian

(A) g faumron
(B) G fasmoft

(C) wifedt Tora foom ared

(D) GHTHIOTE! FouTfaar

qRATd IO IS Hiefaed fEamR

TUEHIY YUY TU Ul ST el ?
(A) 1975
(B) 1983
(C) 2005

(D) 2011
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58.

59.

60.

Which concept is used by Habermas
to refer to “the conditions under
which social goals and values can
be discussed on a rational and
equalitarian basis to reach a

consensus” ?

(A) Undistorted Communication
(B) Social Action

(C) Symbolic Interactionism
(D) Disenchantment

What does ‘Archaeology’ mean in

Foucault’s writings ?
(A) Speech

(B) Action

(C) Discourse

(D) Value

Hawthorne experiments in Industrial

Sociology refer to ................ .

(A) Classical Management approach
(B) Human Relations approach
(C) Conflict approach

(D) Functional approach

58.

59.

60.
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“orelt ufifeerdt <a gmfee Sfese 9

qedr=l ==l qifcheh & THA TRITER hE

TR g A, IS BEHE

HIUAT HhedqT oIl 3TE 2

(A) oo Fowm

(B) qmHIfSIeh el

(C) wfderTcAsh ATRIHIER

(D) AR

el fe@mTdiel * qurereme A
ad wE ?

(A) o7

(B) Ff

(C) Hurfora

(D) A

ST FHTSRTEAR A gfefd Wi ©

(A) AT HEEATH IR
(B) wHe Heg gftesha
(C) Tud gfesM

(D) wEicH® gfeshH
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61.

62.

Given below are two statements, one
is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A)

universal institution.

: Family is a

Reason (R) : It is expected to
transfer sexual rights to the spouses
in family.

Select the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(A) is true, but (R) is false
(A) is false, but (R) is true

(B)

(&)
(D)

Which of the following gases protect

us from harmful sun rays ?
(A) Nitrogen

(B) Ozone

(C) Oxygen

(D) Carbon dioxide

61.

62.
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et gF fagm el omea. ®ia T
gfaared (A) 3R A1 TR FHRI (R)
R,
fqare (A) : FHed & defeh qeen
e,

HRUT (R) : SIS oifiteh SRR

PR e e 1 T e

WAl GehdiehTueh! sk St fae -

i

(A) (A) 3TfoT (R) St SIRIeR 3TT=d SATF0T
(R) © (A) o Irg TR0 3T

(B) (A) 71 (R) &l SR 3Ted, qUT
(R) & (A) 9 Irg TR0 T8l

(C) (A) s 38 99 (R) 9% 3%
D) (A) I% M T (R) SR 3R
WIATeTUh! hIoTal o7 =raeh ' 9 feRzon-
YA ST HLET0 Rl ?

(A) TR

(B) &

(C) RS

(D) HEA SHATFES
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63. Which one of the following is not an | ¢3. wreliciysht ShIvd HHaT famd LTSRN
indicator of Human Development frests @ 2
Index ?
(A) SEITHAN =@
(A) Life Expectancy
(B) fereqor
(B) Education
(C) AT UTdes!
(C) Level of Urbanization
D) TER TRE Iq
(D) National Per Capita Income ) - ¢
64. Which view among the following is | 64 @eAterdent o gitedh Haild RSl
the oldest ? e ?
(A) Cyclical view of social change
(A) e aREdren =kt gfteehia
(B) Linear view of social change
(C) Evolutionary model of social (B) d
change (C) |rIfSes UREd=Te Iehiqamst Wey
(D) Dialectical model of social 0
(D) Tt afEdare ggicdsh U
change
65. Most of the states in India have | 65. YRANIA dgaiel A=l = STl T
their distinct language. This is an qT 3R, ¥ HIM ST TR 2
example of :
(A) FHISTR SR
(A) Social Stratification
B) ISR
(B) Social Difference (B) "
(C) Hierarchy (C) i
(D) Inequality (D) faowa
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66.

67.

68.

According to Max Weber ‘class’ as
a dimension of economic power can

be understood through :

(A) Control over mode of
production
(B) Market situation and the life

chances

(C) Possession of property

(D)

Having a salaried job

Whose work on ‘Stigma’ led to

emergence of disability studies ?
(A) A. Schutz

(B) G. H. Mead

(C) T. Parsons

(D) E. Goffman

As per census 2011, the number of
disabled persons is the highest in
which of the following age groups ?

(A) 10-19
(B) 20-29
(C) 30-39

(D) 40-49

66.

67.

68.

MAR - 14223/I1I—C
‘it ¥ emfee wR WA SRE 3
FETAT SR S Fel A o o
A R :

(A) SR qgdrer T

(B) STSRfEerdt afor Sferwdier Heft

(C) Tt HIcAHh]

(D) TR AR 3T

AN A N ¢ hd y hd N N
ClcdleTYeh[ h[UTAT "ehedsh AT HeheU{Hod

fasheiTar  STea-T=a SqAld el

THeerett 2

(A) IThe Y

(B) Sft. w=. e
(C) Zfethie U=

(D) gfefm wiieRe
2011 =1 SFIVHTER TTeTeTdeh! o

FANTEIAS TaIhetT=l T Haid S
AR ?

(A) 10-19

(B) 20-29
(C) 30-39

(D) 40-49
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69.

70.

71.

Who introduced the concept of

glocalization ?

(A) Ronald Robertson
(B) Martin Albrow
(C) Zygmunt Bauman
(D) Erik Swyngedouw

The only tribe which claims to be

vegetarian is :
(A) Toda

(B) Gond

(C) Bhil

(D) Santhal

The communities that are engaged
in Internet to carry on public
discussions substantively with
sufficient human feeling in the cyber-

space is described as .................. .
(A) Cyber community

(B) Virtual community

(C) Epistemic community

(D) Temporal community

69.

70.

71.
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ST R IR <0 (Glocalization) 3T

ooyt e HUT HEed foeft ?

(A) TS Teedd
(B) HifeA afres

(C) fomHe SreHA
D) E e

WATUeh! ShIvTd STGET STHIT ITehTeRt

T TE] Hd 2
(A) drer
(B) e

(C) faa

(D) TITA

IO SRR S IR S

TR el SverHied et enadi

(D) wifas HHSME
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72.

73.

When agrarian stratification is
discussed we generally refer
17 .

(A) Dominant caste
(B) Control over land
(C) Land alienation
(D) Rural poverty

Give below are two statements, one
is labelled as Assertion (A) and other
as Reason (R) :

(A)

development projects lead to

Assertion Usually

ecological degradation.

Reason (R)

development projects to become

: India needs big

super power.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are correct and

(R) is the correct explanation
of (A)

Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A)

(A) is true, but (R) is false
(A) is false, but (R) is true

(B)

(&)
(D)

72.

73.
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SR AT Foh THLOM= = Sl

a@ ................. = W‘)‘ﬁl a—d W?h
(A) FurEt S
(B) Sifatediar fe=m

(C) SIHATIT= LRl

(D) urior TIiEs

Treft g4 faum feeft omea. e T
AR (A) 3TR o7l T8 &RY (R)
R,

gfaureT (A) : TaiRoge faemrg
Teheqren qRoTH IREERTTSE grmHe
Bl

T (R) : HERER SHUAEST YR

Hical fashm@ Yeheur=l TR 3R,

Tefel FehdlehTish! sReR 3w fasl.

Hehdieh :

(A) (A) 3T (R) Tal SRISR 3TTgd 3Tl
R) T (A) = IMT TR 38

(B) (A) 311 (R) Tl SRIeRX 37=d, 901
(R) § (A) = Irg TIH0 R

(C) (A) R 318 g (R) & I 3T
(D) (A) I 3R g (R) T IR 3T
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74. Habitus does not focus on our ways | 74. BSeH qqeay W <d
(o) TR . I
(A) Acting (A) Fdfer
(B) Feeling (B) e
(C) Thinking (OREERER
(D) Rejection of belief and values (D) #1$T 9 eI THRTAER
75. Which theory of exchanges as a | 75. ST<He TFAMRT TEAER! U5d =
structuralist method of studying fafagarer s fagia ieee S ?
kinship relations is known as ? .
(A) It fagm
(A) Alliance theory
(B) @z fafa fasm
(B) Group exchange theory
(C) ve fafa faga
(C) Direct exchange theory
(D) Descent theory @) =
76. Which one of the following | 76. reiiertshl femmemen Hedidiel v
statements about gender is not faym seR AmEr ?
correct ? R R
(A) FoATcIs Yo eme
(A) Is a normative disposition
(B) wiEhfaew Wea ome
(B) Is a cultural construct
(C) Is a natural disposition © S
(D) It helps understand inequalities (D) fooreen S H0grer 7ed L
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77.

78.

Delay, before change in one part of
society produces realignment of the

other part is known as ................. .
(A) Cultural adjustment

(B) Acculturation

(C) Generation gap

(D) Cultural lag

Which of the following cannot be a
hidden curriculum of education
from the point of view of capitalist
society ?

(A) A curriculum that produces

subservient workforce

(B) That produces more integrated

and rebellious workforce

(C) That produces passive and

obedient workforce

(D) That encourages to accept

authority without question

77.

78.

MAR - 14223/11—C

THTST=AT Wehl SEehTdiel URed-rde facts

Bl TS GH-AT SEehTdiel Jie TSad

(A) Thfqs desiie

(B) THEHIRTT
(C) THerdie TR

(D) WiEhfds gv=mT

ATEacl FHSTAT §ieeh I @eedeh]

IV T SAAHHRH 3T Ieha ARl ?

(A) AFEHY S TSR STRTRRT

SRR AT Sl

(B) A& S ek UehlfcHen ST

fogiel smemt fmtor e

(C) faftswa smftr eT=nemy sttt fmfor
BTG

(D) i gy A faerar feudd

THATRTIOITY st edl

30



MAR - 14223/11—C

79. What was the population of elderly | 79. 2011 =9 SR YRAA Tk

(60+) in India as per census 2011 ? (60+) olmuEA fohdl Bt ?

(A) 64 (A) 6.4

(B) 6.7 (B) 6.7

(C) 7.5 (C) 7.5

(D) 8.0 D) 8.0

80. Given below are two statements, one | 80. @l T fau™ foell R4, TH oTE

is labelled as Assertion (A) and the SR (A) S R S FRO (R).

other as Reason (R).

Assertion (A) : Political sub- UFET (A) @ TSHRT STHERA Ford

cultures are rarely homogeneous. TehfSId! 79T,

Reason (R) : There are significant N

differences among the politically PIOT(R) : TAPTALE SO -

conscious sections of society. FEhHEA HEEqU HAAG ST

Select the correct answer from the wreliel dadaieTe 9 Iea) e -

codes given below :

Codes : e

(A) Both (A) and (R) are true and (A) (A) =0T (R) =t SRR 3TTedt Ao
(R) is the correct explanation R) T (A) ¥ I/ TIHART AT
of (A)

(B) Both (A) and (R) are true, (B) (A) &mfor (R) St areR STed g
but (R) is not the correct (R) T (A) T 7Y TSR0 el
explanation of (A) . )

(C) (A) is true, but (R) is false (© (&) T & Y (R) T 7 M

(D) (A) is false, but (R) is true D) (A) I 318 RY (R) ¥ SN 3718
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81.

82.

83.

Who opines that “Laws are actually

codified mores” ?
(A) E. Durkheim
(B) W. G. Sumner
(C) G. Arnold

(D) B. Malinowski

Which of the following states does

not have water wetlands ?
(A) Punjab

(B) Gujarat

(C) Haryana

(D) Rajasthan

Who among the following held the
view, “Marriage is rooted in the
family rather than family in

marriage” ?

(A) G. P. Murdock

(B) E. A. Westermarck
(C) C. Harris

(D) L. H. Morgan

81.

82.

83.
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" BT R Hieh{deh rehIdl 3TRd
W HUTY HA IR ?

(A) 3 SW@EA
(B) e SI. ¥R
(C) Sft. 3THleS

(D) . HefHrent

TCATCTIehT hIVTT ST TTOTefes STTHAT
Jead AEd ?

(A) TS

(B) TSUd

(C) =famm

(D) TS

AN N~

X ;

ha Ueeqes foamerd -Tg
TesHes FHgard STHa,’’ 3T @efierien!
HUTE A G ?

o [aV
[Adleldl

(A) S . TeTd
(B) 3. W SEIHS
(C) = &9

(D) Ta. TE. A\
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84. ‘Tharwad’is ....cccccccueeee. . 84, ‘oS! T e
(A) A kind of extended family (A) o qgg;elltil oy
(B) A kinship usage (B) MGl SIEER
(C) A rule of residence (C) TEdAMEsE g
(D) A community (D) TEE
85. Customs are also called as ............ | 85. WUTA ¥ g WUE@MG
(A) Folkways (A) TRl
(B) Mores (B) <rekHrdt
(C) Laws (C) IR
(D) Values (D) &
86. For Marx the mode of production | gg wErd=ay HATENR, IOUETISA TSt
refers to ................. .
(A) A combination of means of
production and forces of (A) SO HEM A0 ScqreAr=an
production et T
(B) A combination of means of S
production and relations of (B) ScqeAT=! HiEM S0 ScqeATs ey
productions -
(C) The dynamics of relations of
production only (C) Sz I Haumyeiel Tfaeieran
(D) The dynamics of means of )
production only (D) a8 S W
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87.

88.

89.

When more and more individuals
undermine marriage for procreation,

their orientation to sexuality can be

called ................ .

(A) Heteronormativity
(B) Same sex sexuality
(C) Hyper sexuality
(D) Plastic sexuality

Whose name is closely associated
with the concept “Development

Communication” ?

(A) Denis MacQuail

(B) Daniel Learner

(C) Robert Redfield

(D) Everett M. Rogers
Subculture refers to ................. .
(A) Ethnocentrism

(B) Homogeneity of values

(C) Counterculture

(D) Common lifestyle

817.

88.

89.
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STolesl AR ekl TG ATHIS!

o AN ~ X ~ ~
[Adlelcdl onHl AEdld, deel lliienden s

TEUATl AT g e
¥ TUE.

(A) TgTIHEATCHER

(a} e

(B) THfeT AT

(C) arfaeifiiemar

(D) wILih iTehd

TRt T AT HehoqA ool hIvTY

I FEfd sy ?
(A) =9 v
(B) =F=a @R
(C) U Tshics

(D) TwE T, USd

SUEEHA U
(A) EEHE SeedER
(B) Joamid Tehded
(C) fqEehdt

(D) THM Siaq vgdl
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90.

91.

92.

Which one of the following is not the

source of identity ?
(A) Ethnicity

(B) Attire

(C) Sexual orientation
(D) Class

“Power is intimately linked to

knowledge.” Who said this ?

(A) Bourdieu

(B) Giddens

(C) Foucault

(D) Beck

Agency reflects in ................... .

(A) A student challenging caste
based discrimination in

university

(B) A youth stealing money for
drugs

(C) Daughter demanding dowry as
her right

(D) Mother-in-law’s power over her

daughter-in-law

90.

91.

92.
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ETCATeTUeh! IOl Beeh  SARHd=T G
e ?

(A) =ifRreRal

(B) W

(C) wifitr S

(D) =

“Ooar JERT I UG STeddl

A" B Hl Hed 2
A) 9

(B) firew

(C) T

(D) &

(A) Tommdiedia St smenfd Sevrere

g™ QU foaemert

(B) HIEsh TeraiEel 99 ERON 9%

Hed

(C) Tk TUA §el AN Herft

(D) A=t Ao He
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93. Given below are two statements, one

is labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Eviction of Slum
dwellers forces them to live in

precarious conditions.

Reason (R) : They are not properly

rehabilitated after eviction.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true
but (R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

MAR - 14223/11—C

93. @t g9 faum feoielt omed, TwE

JITAE (A) FellEet 378 T GH-ATH HRU
(R) Falgel 3R,

yfaures (A) : SsuE-aniE fshr
o A gRftedia TemarE 9
TEd.

HRUT (R) : SRR &= I 9gdi

TAEEA el S AR

oo

Eel feeiedn Hehdienr=a STER 3T I
ferer -
i
(A) T (A) efor (R) & SRR ed
T (R) & (A) & 3Tk TSI
Sl

(B) =T (A) 31T (R) SRR 3Ted W
(R) & (A) = SR TR AR

(C) (A) ® s=R 3R Wg (R) § I
Sl

(D) (A) B I% 38 Tg (R) § SR
e
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94. Every economy has three sectors.

Which sector has witnessed marked
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94, YIeh AYHFEIT I &F STHAE. oA

95 IO IV & Fie SIS ITe

growth in the last 25 years ? LS
(A) Primary (A) Wi
(B) Secondary (B) fgdioeh
(C) Tertiary (C) d=h
(D) Welfare (D) ArehehcdTol
95. What term is used to describe the | 95 =&t U™ TRUHE d SgEEAh
gaps between the living conditions e T = e = e
of some groups and those enjoyed b
group JOy y St 2
the majority of a population ?
(A) TR TS
(A) Enforced poverty
(B) <IRGaT=l W&l
(B) Culture of poverty
(C) Relative poverty (C) drete SRS
(D) Absolute poverty (D) gy <y
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96.

97.

98.

Who argued that the nature and
dynamics of Indian agrarian
economy can’t be understood
without connecting it to the

imperialism ?

(A) H. Alavi and I. Banaji
(B) K. Marx and F. Engeles
(C) M. N. Srinivas

(D) A. Beteille

What is the researcher’s relationship

to the respondent in post-
structuralism ?

(A) Equal

(B) Superior

(C) Inferior

(D) Equal and dialogical

In which report the United Nations
introduced the term ‘Sustainable

Development’ first time ?

(A) Report on Human Rights
(B) The Limits to Growth
(C) Our Common Future

(D) Human Development Report

96.

97.

98.
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YT e IR WEY § T

T 9IS IR S e

[a)

S veRd AR’ e yfdured il

T ?
(A) T=. 3Tl & ™. FFTS

(B) %. HH o Th TTeH
(C) wH. . =iftamm
(D) T

SR-TEATETET HRNEeRT Faaereit
Y A9d ?

(A) HHH
(B) aftss
(C) i3

(D) 9 9 Hd<]

TIH T ST IV g

HegeH ' eeed faehre’ g 9= Al ?
(A) TR s s e

(B) T faftem 2 Wy

(C) 3T AT F=

(D) TFA Swaade AR
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99.

100.

Empirical research is not research

basedon ....cceeueeennnn... )

(A) Evidence collected by systematic

observations from the field

(B) Ideas generated through

theorizing and conjecture

(©)

Studies that are realistic and

relevant to the social world

(D) On site database gathered by

the researcher

Which of the following is a
characteristic of qualitative
research ?

(A) Objective

(B) Cause-effect linkages

(C) Value-free

(D) Subjective

99. VAT TeNeA ¥
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MR TeNeA AT

(A) Fafegd &g Ao eem

HehfoTd sheledl T

(B) ¥STdR0l a STHMNGH Teien
[EEIER

(C) \rIfSIeh fowarean arsfae o &
ST

(D) TEARY@EEA HINEHh™ Hehfad
Heoledl AR

100. TITeiteTdsh! SHIOTd T[OMCHS  HINEAT

Ifyres 3R ?

(A) TE=

(B) HEHRU Ty

(C) et

(D) S
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ROUGH WORK

40



